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Abstract. We consider a risk model, which generalizes the classical one, when an insurance company
gets additional funds whenever a claim arrives. We investigate continuity and differentiability of the
infinite-horizon survival probability and derive an integro-differential equation for this function. We
find the closed form solution of this equation in the case when claim sizes and additional funds are
exponentially distributed.
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F2(y) = P[ηi ≤ y] � ���������� �	
��	
����� ���
��	���� E[ηi] = μ2� ����� 
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��� �������	���� �� �����
�����
� (ξi)i≥1� (ηi)i≥1 � ������ (Nt)t≥0 � ���	��������
����	���� ζi = ηi − ξi� i ≥ 1�
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Xt(x) = x+ ct−
Nt∑
i=1

(ξi − ηi), t ≥ 0. '()
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ψ(x) = P
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ϕ(x) = 1− ψ(x).
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��	�� (Sn)n≥1 ����� ������ Sn =
∑n

i=1 ζ̃i�

��� ���� E[ζ̃i] > 0� �� P
[
limn→∞ Sn = +∞]

= 1�
���� ���� E[ζ̃i] < 0� �� P

[
limn→∞ Sn = −∞]

= 1�
����� ���� E[ζ̃i] = 0� �� P

[
lim supn→∞ Sn = +∞]

= 1 � P
[
lim infn→∞ Sn = −∞]
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ζ̃i = ξi − ηi − c(τi − τi−1), i ≥ 1.
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F (y) =
∫ +∞

(−y∨0)−
F2(y + u) dF1(u), y ∈ R, �
�

G1(y) =

{
F (y)−F (0−)

1−F (0−) , y ≥ 0,

0, y < 0,
�:�

G2(y) =
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F (0−)−F ((−y)−)

F (0−) , y ≥ 0,
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F (y) = P[ζi ≤ y] = P[ηi ≤ ξi + y] =
∫ +∞

−∞

∫ y+u

−∞
dF2(v) dF1(u)

=
∫ +∞

−∞
F2(y + u) dF1(u) =

∫ +∞

(−y∨0)−
F2(y + u) dF1(u),
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����� ������� ξi � ηi�

�	��� �������� G1(y) = P
[
ζi ≤ y

/
ζi ≥ 0

]
� G2(y) = P

[−ζi ≤ y
/ −ζi > 0

]
� ��

G1(y) = 0 � G2(y) = 0 
�� ���� y < 0� ��� ���� y ≥ 0 �	
��

G1(y) =
P[0 ≤ ζi ≤ y]

P[ζi ≥ 0]
=
F (y)− F (0−)

1− F (0−)
,

G2(y) =
P[0 < −ζi ≤ y]

P[−ζi > 0]
=

P[−y ≤ −ζi < 0]
P[ζi < 0]

=
F (0−)− F ((−y)−)

F (0−)
.
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Xt(x) = x+ ct+
N+

t∑
i=1

ζ+
i −

N−t∑
i=1

ζ−i , t ≥ 0, �#�

�� (N+
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)
� λF (0−) ����������
 (ζ+

i )i≥1 � (ζ−i )i≥1 � ������������� ���������� �������� 
���� 

������� ���������� ����!�� � "�������� 
��������� G1(y) � G2(y)
 ��� ������ 
�� 

������� �$� � �%�
 ����������# ��� ��������� ����!��� � �
����� � �
���� !������


������� �#� ����������

���������� &����
��� ���'�
��� �����
(��	��� ���'��� (Nt)t≥0 �	��� ������ ��
�	��)��� ������ ����
�
��� ζi� i ≥ 1� *�	���
�� �	��+� �����
(��	��� �����	
��
���� �����
������� ���	
����� ������� (ζ+
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(ζ−i )i≥1 � ����, ���'�� (N−t )t≥0� !�+�� 6	����� �� (ζ−i )i≥1 . �����
������� ���	�� 
(��� �
�	���� �����
������ ���	
����� ������� � /���'�
0 �����
��� G2(y)� &�� 
'�� (N−t )t≥0 
 �
����
��� ��	����������� � ������������0 λP[ζi < 0] � �� �	��(���
��
 �����
������� (ζ−i )i≥1 � -���� ��+�� λP[ζi < 0] = λF (0−)�

���������� �� ��(�	 ���	
���	 �������	 ζi� i ≥ 1� �	��)����� ������ ��� �
��,
���'�
��� �����
(��	��� � 
��� ����	��� ����� 7���

−
Nt∑
i=1

(ξi − ηi) =
Nt∑
i=1

ζi =
N+

t∑
i=1

ζ+
i −

N−t∑
i=1

ζ−i , t ≥ 0,

������� (ζ+
i )i≥1� (ζ−i )i≥1� (N+

t )t≥0� (N−t )t≥0 
 ���	��(���� ��	���
�� ���	��(�����
(ζi)i≥1 � (Nt)t≥0� !��� 
���
���� �



���������� ���	���
	�� ��
��
�
	�� ������
��	��� ���

�� ��������	
������
����� �
������ 	�� ����
�����
 �������������

������	
� λ1 = λ
(
1− F (0−)

)
� λ2 = λF (0−)� ��
���	
�� �� λ1 + λ2 = λ�

������� ��	� ����� ����	
�� 
������� ��������� 
������� ������������ ������
��	 ����

��� ���

�� ϕ(x) ���������� �� ��������� [0,+∞)�
��� ������ �
��� ����� ��
�������� ����� c− λμ1 + λμ2 > 0�  �!�

��� "��

�� ϕ(x) � ���������� !�"����
������	 � ���� ���
�� ���������
[0,+∞)� �
��� ����
 ������� "��

�� G2(y)#

���� �
$� x > 0 % ���
� ������� "��

�� G2(y) � G2(x) − G2(x−) = p�
�� ϕ(x) ��� � 
�� ���
� ����&���� � �����&���� ����!�� ϕ′−(x) � ϕ′+(x)�
�������

ϕ′−(x)− ϕ′+(x) =
λ2pϕ(0)

c
> 0; ���

����� ϕ(x) ��!�������� ��������!�"����
������ ��������

cϕ′(x) = λϕ(x) − λ1

∫ +∞

0

ϕ(x+ y) dG1(y)− λ2

∫ x

0

ϕ(x− y) dG2(y) ���

�� ��������� [0,+∞) � ��������	 �����	 limx→+∞ ϕ(x) = 1 '� ���
��
������� G2(y) �� ����� �� ����� �����&���� ����!�� ϕ(x)(�

)���!����� ��������� ������	�	
�
� �� ��� � !"�
� � �� � � ��#���" $%� �� �&� �
�	'��	!���
���	
�
� ��#������� �%� ���(�!


(
Xt(x)

)
t≥0
�

)�"�* ���+	* !��	#�' ���(�!
 (Nt)t≥0 ���#
����,!� � 
�
��� ��!
 τ1 = s �
|ζ1| = y� �� 
�
���
 ��!
 τ1 #��'�
�!��� �� ��!����� � ��!-� (,�.� 
�
���
 ��/
�� �� ���#
���,!� ���� * ��-,'	 ����� '�-	 �	'��
��,!� ���� � ���" 

��0

1 
 
�
��� ��!
 τ1 ���#
����,!� ���+	* !��	#�' ���(�!
 (N+
t )t≥0 ��
������!�,

(��2 ����2 ������ � λ1/λ� � #��'�
�!��� �� ��!���� �� �������-� ��!
 [s,+∞)
��	 �����'���

 '�����-� x+ cs+ y3

1 
 
�
��� ��!
 τ1 ���#
����,!� ���+	* !��	#�' ���(�!
 (N−t )t≥0 ��
������!�,
(��2 ����2 ������ � λ2/λ� � #��'�
�!��� �� ��!���� �� �������-� ��!
 [s,+∞)
��	 �����'���

 '�����-� x+ cs− y�

4!'�-,'	 �	���'��� ��-	�	�� τ1 
�� ��'���	'��	* �������- � ����
����
 λ� ��
�� 5��

-� �����2 *
������!�� �-� �!�" x ≥ 0 
��
�

ϕ(x) =
∫ +∞

0

e−λs

(
λ1

∫ +∞

0

ϕ(x+ cs+ y) dG1(y)

+λ2

∫ x+cs

0

ϕ(x+ cs− y) dG2(y)
)
ds.

�6�

��!-� ��
��	 �
����2 ����.�
����� x + cs = u 
 �����+�,�

 ����.��-� � �����*
��!�	�� �6� ���	
��
�

ϕ(x) =
eλx/c

c

∫ +∞

x

e−λu/c

(
λ1

∫ +∞

0

ϕ(u+ y) dG1(y)

+λ2

∫ u

0

ϕ(u − y) dG2(y)
)
du.

��7�

4!'�-,'	 ��
���+�� ����.��-	 � �����* ��!�	�� ��7� � ��!����	
	 * �#
����	
	
5
�'(��
	 �
����2 u� �� �������.��-,�� 5
�'(�� � �����+�,�

 ����.��-� � ����.���/
�� �� �������-� [0,+∞)� 4���� ϕ(x) ���������� �� [0,+∞)�
�.���� � �����
� 8�#�.� ��� ���'-�� ��!�����2 5
�'(�2 ���	+�
� G2(y) 
 �	/

.-��� G2(y) = Gc
2(y) +Gd

2(y)� �� G
c
2(y) � G

d
2(y) 9 ���������� * �	!'����� '�
�����/

�	 G2(y) ����������� )�"�* (yk)k≥1 9 ��!-������!�, 
!�" ����' ����	�
 ��'�� ��'�



��� �� �� ��	
��
 �� �� ���
���� � �� �� ������

�������� 	��
��� G2(y)
 �
 ������� ������� ��
�� ����
 � �� ����� ��� ���������

��������� pk = G2(yk)−G2((yk)−)
  ��� !"#� ����� $�%�$����� � ��&�'��

ϕ(x) = ϕ1(x) + ϕ2(x), !""�

��

ϕ1(x) =
eλx/c

c

∫ +∞

x

e−λu/c
(
λ1I1(u) + λ2I2(u)

)
du, !"(�

ϕ2(x) =
eλx/c

c

∫ +∞

x

e−λu/c

⎛
⎝λ2

∑
k : yk≤u

pkϕ(u − yk)

⎞
⎠ du, !")�

I1(u) =
∫ +∞

0

ϕ(u + y) dG1(y),

I2(u) =
∫ u

0

ϕ(u − y) dGc
2(y).

��
����� ��$�%�%������ 	��
��� I2(u) ����� �� ����%���� (0,+∞)
 *������� ��+
������ ���
� u0 > 0
 �%� u ≤ u0 �����

I2(u0)− I2(u) =
∫ u

0

(
ϕ(u0 − y)− ϕ(u− y)) dGc

2(y) +
∫ u0

u

ϕ(u0 − y) dGc
2(y). !",�

-�������� .�

0 ≤ lim
u↑u0

∫ u0

u

ϕ(u0 − y) dGc
2(y) ≤ lim

u↑u0

(
Gc

2(u0)−Gc
2(u)

)
= 0. !"/�

-�
���
� 	��
��' ϕ(x) ��$�%�%��� �� ����%���� [0, u0]� �� �� ���%���� 0����%�
���� %������%�� ��$�%�%��� �� ����� ����%����
  ��� ��' ����+'
�&� ε > 0 ���1�����'
δ > 0� ��
� .� $%� |(u0 − y) − (u − y)| < δ� u ∈ [0, u0]� y ∈ [0, u]� ��
�������'
|ϕ(u0 − y)− ϕ(u − y)| < ε
 2����� $%� |u0 − u| < δ �����∣∣∣∣

∫ u

0

(
ϕ(u0 − y)− ϕ(u− y)) dGc

2(y)
∣∣∣∣ < εGc

2(u0) ≤ ε. !"3�

2 !",�4!"3� ��$����� ��$�%�%������ 	��
��� I2(u) ����� � ��������1 ����� u0 > 0

5�$�%�%������ �$%��� 	��
��� I2(u) �� ����%���� [0,+∞) ���������' �����&���� �

���� ������������ .� $%� u ≥ u0 �����

I2(u)− I2(u0) =
∫ u0

0

(
ϕ(u − y)− ϕ(u0 − y)

)
dGc

2(y) +
∫ u

u0

ϕ(u− y) dGc
2(y).

5�$�%�%������ 	��
��� I1(u) �� ����%���� [0,+∞) ��$����� � ��&�� .� ��' ����
u ≥ 0� u0 ≥ 0 �� ��������&� ����� L > 0 ��
�������'∣∣I1(u)− I1(u0)

∣∣ ≤ ∫ +∞

0

∣∣ϕ(u+ y)− ϕ(u0 + y)
∣∣ dG1(y)

≤ (
1−G1(L)

)
+ sup

y∈[0,L]

∣∣ϕ(u + y)− ϕ(u0 + y)
∣∣.

 ��� ����� �$����
� ����%�� ������ ����
�&� L �%����� ������
 1 − G1(L) '

���&���� ������ � $���� �%����� �%�&�1 ������
 ������ ����� $%� u �����
��
�� u0

-���� $������&%����� 	��
��' � $%���1 ������� !"(� ��$�%�%��� �� [0,+∞)� ����

ϕ1(x) � ��	�%����1����� �� ����� ����%���� ��

ϕ′1(x) =
λ

c
ϕ1(x)− λ1I1(x) + λ2I2(x)

c
. !"6�



���������� ���	���
	�� ��
��
�
	�� ������
��	��� ���

�������� ��	�
��
����
� ��
���� � ������ �����
� ���� � 
�������
�� ������ 
�
[0,+∞)� �� ��
�� ��������
� �� �	
� ��
���! ϕ2(x) 
� ���"� �
������� ���#
���"� !!

����#
(
ϕ2(x)

)′
+
� �

(
ϕ2(x)

)′
+

=
λ

c
ϕ2(x) − λ2

c

∑
k : yk≤x

pkϕ(x− yk). ��$�

�������� #
���

� �
��
���� 
� #���%��� ��	 #
���

� ��	�
��
����
�! ��
���! �
#����

�� ��������� ������ �� ���� "�%
� #������� � ��
��	�

ϕ2(x) =
eλx/c

c

∫ +∞

x

e−λu/c

⎛
⎝λ2

∑
k : yk<u

pkϕ(u − yk)

⎞
⎠ du. ��&�

'�	�
��
����
� ��
���� � ������ �����
� ��&� � 
�������
�� #���� 
� (0,+∞)�
��"� ��
�� �������
� �� �	
� ��
���! ϕ2(x) 
� ���"� �
������� ���#
���"� !! ����#(
ϕ2(x)

)′
−� � (

ϕ2(x)
)′
− =

λ

c
ϕ2(x)− λ2

c

∑
k : yk<x

pkϕ(x − yk). �()�

*����� 	� ���
� ��$� � �()�� ����"��"�

(
ϕ2(x)

)′
− −

(
ϕ2(x)

)′
+

=
λ2pkϕ(0)I{x=yk}

c
, �(��

	� I{·} + �
	������ "
�%�
�,
�������� c − λμ1 + λμ2 > 0� �� limx→+∞ ϕ(x) = 1 �
����	�� ��"� (,�, -�	� #

���
���� �&� ��������� .� ϕ(0) > 0, /���
�� �������� ϕ(x) 
�������
� 
� [0,+∞)
� limx→+∞ ϕ(x) = 1� �� ��	������0� x = 0 � �&� "��"�1 ��	�
��
����
� ��
���� �
#��
�0
��"� �
��
���� � ����
� 	�	��
�� ���
��"
� ����
���� # 	����
� s > 0,
��%�� ����� �����
� �&� � 	�	��
�� ��� x = 0, 2��	�� "��"� ϕ(0) > 0, 3 ���"�
��#� # �(�� ��������� .� ��
���� ϕ2(x) � 	�����
�����
�� � ��� ����� �
�������
[0,+∞)� ����" ����� yk� k ≥ 1, *����� 	� ���
� ����� "��"�� .� ϕ(x) ����% � 	���4
��
�����
�� � ��� ����� �
������� [0,+∞)� ����" ����� ��#���� ��
���! G2(y)� �
����
������ �5�, *���0 ��
�� # ����� ��5�� ��$� ����"��"�

ϕ′(x) =
λ

c

(
ϕ1(x) + ϕ2(x)

) − λ1

c
I1(x)− λ2

c

⎛
⎝I2(x) +

∑
k : yk≤x

pkϕ(x − yk)

⎞
⎠

=
λ

c
ϕ(x) − λ1

c

∫ +∞

0

ϕ(x+ y) dG1(y)− λ2

c

∫ x

0

ϕ(x− y) dG2(y),

#��	�� ��#������	
�� �������� �
��
��4	�����
�����
� ���
�

� �$�, �������� �����
�����
� �$� � 
�������
�� � ��� ����� �
������� [0,+∞)� ����" ����� ��#����
��
���! G2(y)� �� ϕ′(x) ����% � 
�������
�� � �� ����� , -����"� 	���	�
�, �

���������� �,�	 6�#
����� ����� ��#���� ��
���! G2(y) 
� ��
��� ����� ��#����
��
���� F1(y) � F2(y) "�%
� ����" ��
�", 7� �� (y1,i)i≥1 � (y2,j)j≥1 + �����	��
����
����� ��#���� ��
���� F1(y) � F2(y) ��	����	
�� �����"� F1(y1,i) − F1((y1,i)−) =
p1,i� i ≥ 1� � F2(y2,j) − F2((y2,j)−) = p2,j � j ≥ 1, 8�#
��	��"� ��� "�%���� #
���

�
������
� y1,i − y2,j �� #���0��"� ������ 	�	��
�, 9�%
� 	�	��
� ����� y1,i − y2,j �
������ ��#���� ��
���! G2(y)� � ��#"�� ������� � ��� ����� 	����
�� p1,i p2,j � ��.�
#
���

� y1,i−y2,j ������������ �	�
 ��#, :�.� % #
���

� y1,i−y2,j ������������
	������� ��#��� �� ��	����	
� #
���

� p1,i p2,j � ��� ����� ��	��"��������,



��� �� �� ��	
��
 �� �� ���
���� � �� �� ������

�� ������� ��	��
�
���
�
� �������
�
�� �������� ����� � ����������

������

���� ���� ���� ����	���
 ����
��� ξi 
 ηi� i ≥ 1� ���������
����� �����	
���


� ����	�
�� μ1 
 μ2 �
	���
	��� �� ����	���
 ����
��� ζ+

i 
 ζ−i � i ≥ 1� �����
���������
����� �����	
���
 
� ����	�
�� μ2 
 μ1 �
	���
	��� ���
� ����� λ1 = λμ2

μ1+μ2


 λ2 = λμ1
μ1+μ2

�

����	����� �� �����	 
��� F1(y) = 1 − e−y/μ1 
 F2(y) = 1 − e−y/μ2 �
� ��
� y ≥ 0�
�����������	�� ���������� 
��� ���� �������� �������� �����
	 ������

� F (y)
���������� ��
���� ζi� i ≥ 1� � � 
��� �� !"# �
� ��
� y ∈ R ��$��

F (y) =
∫ +∞

−y∨0

(
1− e−(y+u)/μ2

) 1
μ1

e−u/μ1 du

=
∫ +∞

−y∨0

1
μ1

e−u/μ1 du − 1
μ1

e−y/μ2

∫ +∞

−y∨0

exp
{
− (μ1 + μ2)u

μ1μ2

}
du

= e−(−y∨0)/μ1 − μ2

μ1 + μ2
e−y/μ2 exp

{
− (−y ∨ 0)(μ1 + μ2)

μ1μ2

}

= e(y∧0)/μ1 − μ2

μ1 + μ2
exp

{
(y ∧ 0)(μ1 + μ2)− μ1y

μ1μ2

}
.

%��

&��

F (0) = 1− μ2

μ1 + μ2
=

μ1

μ1 + μ2
,

�� λ1 = λ
(
1− F (0−)

)
= λμ2

μ1+μ2

 λ2 = λF (0−) = λμ1

μ1+μ2
����

��� 
��� ��"�

'����� �� ��� � !�# 
 !(#� �
� ��
� y ≥ 0 ��$��

G1(y) =
1− μ2

μ1+μ2
e−y/μ2 − μ1

μ1+μ2

1− μ1
μ1+μ2

=
μ2 − μ2e

−y/μ2

μ2
= 1− e−y/μ2 ,

G2(y) =
μ1

μ1+μ2
− e−y/μ1 + μ2

μ1+μ2
e−y/μ1

μ1
μ1+μ2

=
μ1 − μ1e

−y/μ1

μ1
= 1− e−y/μ1 ,

��
��� ���
���$ ���������� 
���� �

��	
��� ���� ����� ���� �
� ���
���! ��������" ������
" �����
�#���� �
��
$

�� !)#� ����	���
 ����
��� ξi 
 ηi� i ≥ 1� ���������
����� �����	
���
 
� ����	�
��
μ1 
 μ2 �
	���
	�� �� �����!#���� !���� c− λμ1 + λμ2 > 0� %�	


ϕ(x) = 1 +
λμ1(1− αμ2)

(cα− λ)(1 − αμ2)(μ1 + μ2) + λμ2
eαx !��#

	�� ��
� x ≥ 0� 	�

α =
λμ1μ2 + cμ1 − cμ2 −

√
c2(μ2

1 + μ2
2) + λ2μ2

1μ
2
2 + 2cμ1μ2(c− λμ1 + λμ2)

2cμ1μ2
.

&�!������� ��)� *�� ��������
 ������� ��) +��� ��������� ,� α < 0 


−1 <
λμ1(1− αμ2)

(cα− λ)(1 − αμ2)(μ1 + μ2) + λμ2
< 0.

-��� �����
� ϕ(x)� ��������� �
��
��	 !��#� ��$ ��
 �������
 �
��������
 ����
�.
����
 ��+����������� �������� ���� $ ��������	 �� �+������	 ��
�� ����� � ���.
����	 �������



���������� ���	���
	�� ��
��
�
	�� ������
��	��� ���

���������� ��������	 
����
� ��� � ��
� ��� � ���
� ���� ���	��� ϕ(x) � ��������
�������� �� ��
������ [0,+∞)� � �������� � ! ��"�#�
��� � ��$����

cϕ′(x) = λϕ(x) − λμ2

μ1 + μ2

∫ +∞

0

ϕ(x + y)
1
μ2

e−y/μ2 dy

− λμ1

μ1 + μ2

∫ x

0

ϕ(x − y) 1
μ1

e−y/μ1 dy.

�%�!

&���� ��
�� �
����' ��
�$������� x + y = u � x − y = u � "��#�
� 
� ���$�
�
��
�$����' ���"������ � "����� (��
��� �%�! 
��
�

cϕ′(x) = λϕ(x) − λ

μ1 + μ2
ex/μ2

∫ +∞

x

ϕ(u) e−u/μ2 du

− λ

μ1 + μ2
e−x/μ1

∫ x

0

ϕ(u) eu/μ1 du.

�%�!

)�$	� *�(�
�� +� "���� (��
��� �%�! � ��������������� �� ��
������ [0,+∞)�
,�
� ��� ���' x ≥ 0 ����� ���$� "�'���� ���	��- ϕ(x)� &���������������#� �%�!�
�
��
��
�

cϕ′′(x) = λϕ′(x)− λ

μ2(μ1 + μ2)
ex/μ2

∫ +∞

x

ϕ(u) e−u/μ2 du

+
λ

μ1(μ1 + μ2)
e−x/μ1

∫ x

0

ϕ(u) eu/μ1 du.

�%.!

/(������� +� "���� (��
��� �%.! � ��������������� �� ��
������ [0,+∞)� ,�
�
����� 
��
� "�'���� ���	��- ϕ(x) �� ���
� ��
������� &���������������#� �%.!�

��
�

cϕ′′′(x) = λϕ′′(x) +
λ

μ1μ2
ϕ(x) − λ

μ2
2(μ1 + μ2)

ex/μ2

∫ +∞

x

ϕ(u) e−u/μ2 du

+
λ

μ2
1(μ1 + μ2)

e−x/μ1

∫ x

0

ϕ(u) eu/μ1 du.

�%0!

�����
� ���	��-

H1(x) =
λ

μ1 + μ2
ex/μ2

∫ +∞

x

ϕ(u) e−u/μ2 du,

H2(x) =
λ

μ1 + μ2
e−x/μ1

∫ x

0

ϕ(u) eu/μ1 du.

,��� �%�!� �%.!� �%0! ��"�#�
��� ���"������ � ��$����

cϕ′(x) = λϕ(x) −H1(x)−H2(x), �%1!

cϕ′′(x) = λϕ′(x) − 1
μ2

H1(x) +
1
μ1

H2(x), �% !

cϕ′′′(x) = λϕ′′(x) +
λ

μ1μ2
ϕ(x) − 1

μ2
H1(x) +

1
μ1

H2(x). �%2!

3� �%1! 
��
�

H2(x) = −cϕ′(x) + λϕ(x) −H1(x). ��4!

&���
����#� � �% ! ���(���� H2(x) � ��4! � ���*��#� ���
��
���� "���
��������
�
��
��
�

H1(x) =
μ1μ2

μ1 + μ2

(
−cϕ′′(x) + λϕ′(x)− c

μ1
ϕ′(x) +

λ

μ1
ϕ(x)

)
. ���!

&���
����#� � �%2! ���(���� H2(x) � ��4!� 
��
�

cϕ′′′(x) = λϕ′′(x) +
c

μ2
1

ϕ′(x) +
(

λ

μ1μ2
− λ

μ2
1

)
ϕ(x) +

(
1
μ2

1

− 1
μ2

2

)
H1(x). ��%!



��� �� �� ��	
��
 �� �� ���
���� � �� �� ������

���������	� � 
��
 �������� H1(x) � 
��
 � ������	� ����������� �������������
���������

cϕ′′′(x)− λμ1μ2 + cμ1 − cμ2

μ1μ2
ϕ′′(x)− c− λμ1 + λμ2

μ1μ2
ϕ′(x) = 0. 
��


�������� 
��
 ��� ����������� ϕ(x) � �������� ���������� �� ����!���"���
��������� �� ������� #�� �!������� � ����$��%��"�� �������� ��������& '���������
����#���������� �������� ��� ��(���

cμ1μ2α
3 − (λμ1μ2 + cμ1 − cμ2)α2 − (c− λμ1 + λμ2)α = 0. 
�)


����$����	� �������� 
�)
� ���������

α1 = 0,

α2 =
λμ1μ2 + cμ1 − cμ2 −

√
c2(μ2

1 + μ2
2) + λ2μ2

1μ
2
2 + 2cμ1μ2(c− λμ1 + λμ2)

2cμ1μ2
,

α3 =
λμ1μ2 + cμ1 − cμ2 +

√
c2(μ2

1 + μ2
2) + λ2μ2

1μ
2
2 + 2cμ1μ2(c− λμ1 + λμ2)

2cμ1μ2
.

*�%������� +� ��#��"#� ��#��%��"�� %���� c− λμ1 + λμ2 > 0� ��

c2(μ2
1 + μ2

2) + λ2μ2
1μ

2
2 + 2cμ1μ2(c− λμ1 + λμ2) > 0.

,��"	 ��(�� �����#� ����#�������� +� � !"��% ����

|λμ1μ2 + cμ1 − cμ2| <
√
c2(μ2

1 + μ2
2) + λ2μ2

1μ
2
2 + 2cμ1μ2(c− λμ1 + λμ2).

*����� ��������� +� α2 < 0 � α3 > 0&
*�(��"��� ����$���# �������� 
��
 ��� ��(���

ϕ(x) = A1e
α1x +A2e

α2x +A3e
α3x, 
�-


�� A1� A2� A3 . �������� ������ �#� �������/�"�� � ����%���� ��"�� %���0

lim
x→+∞ϕ(x) = 1, 
�1


cϕ′(0) = λϕ(0)− λ

μ1 + μ2

∫ +∞

0

ϕ(u) e−u/μ2 du, 
�2


cϕ′′(0) = λϕ′(0)− λ

μ2(μ1 + μ2)

∫ +∞

0

ϕ(u) e−u/μ2 du. 
�3


*��������� +� %���� 
�1
 ��#��%��"�� ��������# ���� �&�� � 
�2
 � 
�3
 ��������
���������#�/ x = 0 % 
�)
 � 
�-
 ����������&
4�#��"#� limx→+∞ eα2x = 0 � limx→+∞ eα3x = +∞ �� � 
�-
 � 
�1
 ��������� +�

A1 = 1 � A3 = 0& 5��� 
�-
 ������	��"�� % ��(����

ϕ(x) = 1 +A2e
α2x. 
�6


7� 
�6
 ����� ϕ(0) = 1 +A2 � ϕ
′(0) = A2α2& 5��� 
�2
 ����	��"�� % ��(����

cA2α2 = λ(1 +A2)− λ

μ1 + μ2

∫ +∞

0

(
1 +A2e

α2u
)
e−u/μ2 du,

����#�

A2 =
λμ1(1− α2μ2)

(cα2 − λ)(1 − α2μ2)(μ1 + μ2) + λμ2
. 
)8


���������	� ϕ′(0) = A2α2 � ϕ
′′(0) = A2α

2
2 % 
�3
 �����

cA2α
2
2 = λA2α2 − λ

μ2(μ1 + μ2)

∫ +∞

0

(
1 +A2e

α2u
)
e−u/μ2 du,

����#�

A2 =
−λ(1− α2μ2)

α2(cα2 − λ)(1 − α2μ2)(μ1 + μ2) + λ
. 
)�




���������� ���	���
	�� ��
��
�
	�� ������
��	��� ���

��� �������	 α2 
 ������
 ��������	��	����� �������� ����� �� ������� �������
���	��� �� A2� ������ �� � � ��!�� �����" #���� 
�

� �$$�" %�����	
�� �� & '��
&�
�(����� �����
	 
	 �	)�
� α ��
���� α2"

*���� �������	 α2 < 0� �� 1− α2μ2 > 0 �

(λ− cα2)(1− α2μ2)(μ1 + μ2) > λ · 1 · μ2 = λμ2.

+�
& � �� � �	��	��
� �� A2 < 0" ,���) ����� �������	

λμ1(1− α2μ2)
(λ− cα2)(1− α2μ2)(μ1 + μ2)− λμ2

<
λμ1(1 − α2μ2)

λ(1 − α2μ2)(μ1 + μ2)− λμ2

=
λμ1(1− α2μ2)

λμ1(1− α2μ2)− λα2μ2
2

< 1,

�� � �� � �	��	��
� �� A2 > −1" #���� '&��-�� ϕ(x)� �	������� �������( �$$�� 
�

��� ��	����� �����	����� .
��������� ��/����&�����"

%�&���	
� ������ �� ���.���	. ����0���� ��.��� 
 .
��������( ��/����&�����"
1������� .
��������� ��/����&����� 
 ����0����
 �������� �2�� ��� /&�� �	������
/�� ��������	� ��	�&���� ������
�� ���� �	'����-�.������� ϕ(x)� � ������� ��
�������� ����" +�
& .
��������� ��/����&����� 
 ����0����
 �������� ����" #������	

	 �������	� �� �������� ���� 
�
 
�	�	. ����0����� ��	. ����������
 &
��	 ��3�4
��2�� �� -�. ����0���� ��.��� 
 .
��������( ��/����&�����" +����
& ��������" �

���������� �"$	 5��� � ����	���. 
����� �	�	�& /�� ��������	� ���������� ���
)��� �	���&
���� &
��� ���������� ��	/&��& c−λμ1 > 0� � ���
��	 �������	� �	
��

�(�� ��������-�����	. �������� �� �������
 μ1� ��

ϕ(x) = 1− λμ1

c
exp

{
(λμ1 − c)x

cμ1

}
��� ���� x ≥ 0 ��	�"� ����	����� 6!� $� �� �7�"

8�����	
�

A(λ, c, μ1, μ2) = c2(μ2
1 + μ2

2) + λ2μ2
1μ

2
2 + 2cμ1μ2(c− λμ1 + λμ2).

+��� & 
����� �	�	�&� �� ��������
����� 
�

�

lim
μ2↓0

α = lim
μ2↓0

λμ1μ2 + cμ1 − cμ2 −
√
A(λ, c, μ1, μ2)

2cμ1μ2

= lim
μ2↓0

(
λμ1μ2 + cμ1 − cμ2

)2 −A(λ, c, μ1, μ2)

2cμ1μ2

(
λμ1μ2 + cμ1 − cμ2 +

√
A(λ, c, μ1, μ2)

)
= lim

μ2↓0
−4cμ1μ2(c− λμ1 + λμ2)

2cμ1μ2 · 2cμ1
=
λμ1 − c
cμ1

�

lim
μ2↓0

λμ1(1− αμ2)
(cα − λ)(1− αμ2)(μ1 + μ2) + λμ2

= lim
μ2↓0

λμ1

(cα− λ)μ1
=

λ

(λμ1 − c)/μ1 − λ = −λμ
c
.

#���� ��	 ���	�� 
��	� μ2 ���	 �������	� ������������ ��������	� ��)����
�
��������� ��/����&����� � 
����� �	�	�&� �� ��������
����� /�	���� �� ����������9
.
��������� ��/����&����� � ����	���. 
����� �	�	�&"

������� �	
	 :���. c = 10� λ = 4� μ1 = 2� μ2 = 0.1" +��� � ����	���. 
����� �	�	�&

ϕ(x) = 1− 0.8 e−0.1x,

� � 
����� �	�	�&� �� ��������
�����

ϕ(x) ≈ 1− 0.760473 e−0.119763x.
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